T

| e A AR

Fake rate vs P, Duplicates Rate vs P, Pileup rate vs P,
+0.0] -

- 0.21 . . .

> : : : =

: : : 2 0.18F 9.009
: . : 3} r ]

0.8F--ceenen- e AU 8 1 S-S O 80.16 ©.008

. : : : 3014'_ . ........... a'007

3 r . . . _@

Takerate vs p

]

S SRR SO L U 1 O U PP SRR ooy 4 IS - %006

I : : L1t 3 0 o o R e 0.005
(| S K RS Bee R EE RIERE BN e 0.08F+--- 1+ Freeeeeens S ERRRRLEE LRI 0.004
I : : 0.06F-T+ e IELTEEN SENPRS 0.003
0.2F-oe- 0.04F -} oo 3 RIS SRS 0.002
i 'ﬁﬂ 0.02:—-%&7’ e ) RS PR 0.00

[+ AT OF e itait ' '
o G - - o © - - - o 9
= . : : 1 = : : : = [
o Foeeeeennn Feeen E e ‘e o [ : : : 24 [
i + : fo nfl B 2o ‘:: I DR O AR o.5F
 ERLAECE 511 1 L A bl I

-1 I2 3 -1 e P “2 o 3 -1
10 1 10 tra%g P, (Ge\}P 10 1 10 tra%E P, (Ge\})O 10
—=— DQM_V0001_R000000001__Global__mkFit_baseline
—— DQM_V0001_R000000001__Global__mkFit_var
0.8 : : : : : = 0.5 : : : : : =0.0%

: : : : : L 0.45E--- L o L e $.009
0.7 poreee preeeee e AR ’ : : : : : on

: : : : : 0.4F----- Feeeeens CRPRIEEE CRTETEPS SUPPPRLTSPRETE $.008
0.6y~ Feeees freeeee R R E A o : : : : : s
s : : : : : % 0.35F - PARREAE PR gy d.007
- I A A A R S 0.3 AR SR S 0.006
(1= ERPPPS PRPPPPS RRRN B e RRRPPRS RRRPRP 0.25 0.005
0.004
0.003
0.002
0.001

takerate vs
rate

duplic

| e 02

8 T

N L

Ratio
N
T
Ratio
iy
!
Ratio

Fake rate vs phi [Duplicates Rate vs @] Pileup rate vs ¢

o 0.5g " " " " " - s 0.2 " " " " " . = 0.0 " " " " " -
n : : : : : : n F : : : : : ! n : : : : : :
2045 EA L et I 11 e e S

Q ;_ - : : : : : ! E: : : : : : :
S 04f IO -SRRNES NOS RS S S 0| OSSOSO FOSUURY SURPUON FOSOOS SO
x E: 3 E: : : : : p S E : : : : : :
£0.35F ©0.14F -+ AR AR e D.007F------ e e AR
E o I N N N N j S E N N N N N N
03F S0.02F bl R s 0T e G S Rl S
0.25f ° o ' ' ' : : 0.005fF -+ +4:+ee-- S RGLLt ST
0.2F 0.08: 0004+ +dreeeedensendinnib
0.5 FHt 0.06F- | 0.003f oo+ R RN A
0.1¥++-” ¥ 0.04F {1 0.002F+++++e-en-  SIITEN CEPRS e
0.05-+-}-4 0.02F 0.0+ v deeensiensenn e
o Qft— o O NN IR o q_'"'
5 N : < A S A R
@ 1sp-- A R I S B N b4 osk :
F: B S R I DU & S B B AR R A
- E . L o :
-3 T R R N R 3= 1T 0 1 2 3




	Contents
	Page 1


